Moments

See-saws work because each person is trying to turn the see-saw. Their weights are making turning forces. The size of the turning forces depends on the weight of the person and the distance they are from the middle (pivot).

If they want to balance the see-saw, they need to have the same turning forces.

We can work out turning forces using this sum:

turning force = weight x distance from the pivot

Task
Will these see-saws balance?

If they won’t, which way will the see-saw tip over?

(Clue: If the turning force on each side is the same, it will balance.

The see-saw will tip over on the side with the biggest turning force).
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Task
What will happen if the crane’s operator tries to lift each of the loads?
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